Algebra 1

8.1 Practice A (1.el & 1.e2 NAQc)
NAQ.c.1 -- no calculator allowed
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Evaluate a numeric exponential power. Clearly show work. Circle your answer.

2t =

A A A :%Tij_j

3-32:2 23 = |4

2) 2° =

A drh A -'!@

4

) 5°
- R ‘5{f2.3_;

6) 3° -
.33 :JZ,'{'i

ID: 1

Period



Simplify. - no calculator allowed
Evaluate a numeric exponential power WITH negative numbers. Clearly show work. Circle
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your answer.

USE Calculator to evaluate these numeric exponential power. NO work needed.
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Acad. Algebra 1
8.1 Practice B (NAQ.c 1&2)

NAQ.c.1 -- no calculator allowed
Evaluate 2 numeric exponential power. Clearly show work. Circle your answer.
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Simplify. -- no calculator allowed

Evaluate a numeric exponential power WITH negative numbers. Clearly show work. Circle
your answer. .\
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USE Calculator to evaluate these numeric exponential power. NO work needed..
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NAQ.c.2
Evaluate numeric expressions with positive integer exponents, using the product property.

Clearly show work. Simplify the exponent expression; then evaluate. Circle your answer.
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Evaluate NEGATIVE numeric powers with positive integer exponents, using the product
property. Clearly show work. Simplify the exponent expression; then evaluate. Circle answer.
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Simplify. Show work.
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